Key for Quiz I; F5360; Summer, 1997



Questions:



Note:  question 1 is worth 40 points, questions 2 and 3 are worth 80 points each.



1.  Provide a short answer (sometimes even one word) to each of the following:

a.  How is diversification related to people’s attitude about risk?

b.  Suppose you have just calculated a number of ratios for Newt Who Inc.  To what should we compare these numbers?

c.  Suppose we are calculating the 1994 EVA for Roundy Round Inc. (an operator of dirt race tracks throughout Texas).  What year’s balance sheet do you need in order to do your calculations?

d.  The APR on a bank account is 9.5%.  Assuming daily compounding, what is the effective interest rate per day on the account?



2.  You are in the market for a new car and the salesperson at FixALot Autos Inc. has told you that if you make a down payment of $1000, then your monthly payments would be $950 per month.  These payments were calculated assuming that you make 36 payments, that the rate on the loan is 7% per year, and that the first payment is one month from today.  The salesperson also states that FixALot has started a new financing approach which allows you to increase your payments across time.  (The same rate would apply to either loan).

a.  What is the price of the car you are looking at?

b.  What would your first payment be under the growing payment approach?  Assume that the first of the 36 payments can actually be delayed until 3 months from today and that the payments would increase by 0.35% each month. 



3.  	a.  The EVA for Bill For Sale Inc. has been negative for each of the last 5 years and has been falling.  What does this tell us about Bill?

b.  What could ratio analysis reveal about the source of Bill’s negative EVAs?



Distributions and minimum cutoffs:



Quiz:  High = 198; Mean = 159.5; Median = 162; A = 172; B+ = 165; B = 145; C+ = 140; C = 125

Total of quizzes (drop low 100 points):  High = 99; Mean =  80; Median = 81; A = 86: B+ = 83; B = 73; C+ = 70; C = 63



Key:  



1.  	a.  Since investors are risk averse (prefer less risk other things equal) [+3], they will thus pursue diversification [+3]since it reduces risk without affecting return [+4].

b.  Industry averages (or strongest competitor) [+5]and to itself across time [+5]

c.  1993 [+10]

d.  .095/365 = .00026027 = 0.026027% [+10]



�2.  	a.  � EMBED Equation.2  ���

� EMBED Equation.2  ���

b.  V2 = 30,865.32(1.00565)2 = 31,215.34

� EMBED Equation.2  ���

=> C = 905.11



points for correct use of equations [+10 each]:  � EMBED Equation.2  ���, V0, V2, growing annuity

points for correct use of variables:   [+6 each]:  1/12, 2; [+4 each]:  36 (a & b), 3
0,865.32
, C; [+2 each]:  .07, 1000, 950, .0035

points for final answers:  [+2 each]



3.  	a.  Bill is not earning enough to cover its cost of capital [6] and as a result is destroying stockholder wealth [6] at an increasing rate [4].  

b.  Three potential sources  of negative EVAs that ratio analysis might illuminate:

1)  Excessive assets [4] => look for:

Low asset turnover (sales/assets) relative to industry/firm’s history[2]

Low fixed asset turnover (sales/average fixed assets) relative to industry/firm’s history[2]

Low inventory turnover (cost of goods sold/average inventory) relative to industry/firm’s history[2]

High average collection period (average AR/daily sales) relative to industry/firm’s history[2]



2)  Low profit per sales [4] => look for:

Low profit margin (EBIT/sales) relative to industry/firm’s history[8]



3)  Poor utilization of  “free” capital from suppliers, etc. [2] => look for:

High current or quick ratios relative to industry/firm’s history[4]



Note:  only receive half credit if mention ratio without whether looking for high or low ratio



Scale (checks=points): 29-30=80; 23=78; 22=76; 20=74; 19=72; 18=70; 17=68; 16=66; 15=64; 14=62; 13=60; 12=58; 10=56; 8=54; 7=52





